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Q-1

Attempt the following questions:

Define space and time complexity of algorithm.

Write the complexity of insertion sort and binary search.
Explain transitive relation.

Define: Minimum Spanning Tree

Define: Breadth First Search

Define: Directed acyclic graph.

When is a problem said to be NP?

Arrange following rate of growth in increasing order:
2N, nlogn, n2,1, n, logn, n!, n3

Define big Theta (®) notation.

What is the difference between recursion and iteration?
What are the advantages of an algorithm?

Which condition needs to be fulfilled for binary search?

m) Name any two graph algorithm.

n)

What is the time complexity to insert an element in unsorted array?

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(@)
(b)

(@)

Attempt all questions
What is Asymptotic notation? Explain upper bound notation, lower
bound notation and tight bound notation.
Solve following recurrences.
1. T(n)=T(n/3) + T(2n/3) + O(n)
2. T(n)=2T(n/2)+n

Attempt all questions
Differentiate: Divide and conquer strategy, Greedy algorithms and
dynamic programming strategy
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Q-4

Q-6

Q-8

(b)
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(a)
(b)

Solve the following 0/1 knapsack problem with knapsack capacity=8.
1= (11, 12, 13, 14)

V= (15,10,9,5)

W=(1,5,3,4)

Attempt all questions

Analyze Divide and concur algorithm. Write its algorithm and derive its
complexity.

Explain Dijkstra's shortest path algorithm.

Attempt all questions

Find Longest Common Subsequence of given two strings using Dynamic
programming strategy. S1=zxcvcvbcv S2=zxccxvbvn

Explain prim’s minimum spanning tree algorithm with an example.

Attempt all questions

Solve the following matrix chain multiplication problem in optimal way.
M1:5x4,M2:4x6,M3:6x2,M4:2x7

Explain N-Queen problem with an example of 8-queens problem. Give at
least four possible solutions of 8-queens problem.

Attempt all questions

Explain Naive String matching algorithm.

Explain kruskal's algorithm with example.

Attempt all questions
Explain NP hard type and NP complete type of problems.
What is relation? Explain types of relation with example.
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https://www.geeksforgeeks.org/dijkstras-shortest-path-algorithm-greedy-algo-7/

